fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
1 | 1 1

- — = +1 —+3= -+ =x4+1 +3=
4X3 5><2 3 3 2X 5x5,3+3

2—8x1+2+2xz: §+%x4—g:

5 4 5 2 3 5

3 1 2

——2X%x2—== 2,2+ 15x =+5—-5x%x5,7=

4 2 ’ 3 ’

2
§—20><5,6+5—5><

N =

2 2
4,3—15><§+5+3><3,7= §—8><5,5+4+2><
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N
% 6 fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
1 1 47 7 11 173 5
- — - +15X = +3=—=2— -+ =x4+1 +3=—=28-
33T 5F3= 55725 3P AT xS. 33 = = =28y
g—8xl+2+2x%:l §+%x4—%:_11_3_:3_2_3_
5 1 55 3 530 30
115 3 2 243 3
Y ox2—i=(-2y=(32 22+15% = +5— e Vi
<2- 2= (2)-c3)) 2+15x 2 5o5 k5T (20 -
2 1 77 7 2 1 3 07 1
) 5o gx o= (o coaly S lxse2=l_ 2
37205567575 x5 =03 = (AH55) 37573 5375715
2 711 2 3 9] 1
43— 15% = +5+ D4l < 442X D = ()= (99—
3-15x 254337 = 2 = l4g £ -85, 2= ()= (970
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